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HET M- 115 FHELER-ELRABREIE

I & E Al i BT ®H = wmE
+ =T =% 1
BT PR U PR T8 m3 19 18.8
HWIER BRL BAL m3 7 6.5
HWER BRL Xt m3 8 8.4
BEIWET | TEER XL m3 9 9.4
BekT = 1
fiET PU3-300 300 % 300 m 39 39.2
BET ( Eﬁ%g%ﬁm) 180 180 m 1 1.0
gkmT Skt 500 x 500 13 1 1.0
SET X 1
ST RET | FEEAEA | 25 2438
ST | FEEET | BIRE m2 12 120
HET BT BLRE m2 13 12.8
g T =X 1
SHLE kR BT B AstiZE t=40mm m 42 418
HEMRRFEA | MREELT | t=40mm m?2 29 29.1
OB -0y | TRI7ILE [EBERHRRET| m3 1 1.2
WET B s | H VY —| SARTARE|  m3 3 2.6
WET B30 | BV —M SRRTKIRAET[  m3 2 2.1
RE& T X 1
REFEE | RBFEEB A 15 15.0
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g
THEER EELE [v= 1877 843 + 09 = 940 [m3 9.4
HekT
PU3-300 L= 392 = 392 [m 39.2
10m%HY
PU3-300 L = 2000 PN 5
#BHLavy)—k V = 056 X 0.10 x 10 m3 0.56
18-8-40BB
LB A = 010 x 10 x 2 m2 2.0
HEJLSIIL V = 036 x 003 x 10 m3 0.11
avy—rE N = 19 " 19
JL—FoY5 N =1 " 1
kT
U=Fi#180 x 180 L = 1.0 = 10 m 1.0
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U180 % 180 L = 1000 PN 10
#HLavy)—k V = 035 % 0.10 x 10 m3 0.35
18-8-40BB
LB A = 010 x 10 x 2 m2 2.0
HEJLSIIL V = 019 x 003 x 10 m3 0.06
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& 7k #4(500 x 500) N= 1.0 = 10 |[&@| 10
V= 08x08x07-05x 05 x (0550 - 0.065) - 0.3 x 0.3
BiAR{ACo
18-8-25BB X 0.15 X2 -0.18 x 0.18 X 0.15- 0.6 X 0.6 X0.065 m3 0.27
= 0.27149
A= 08 x 07 %X 4+08 X 08+05 x 055 X 4 +05 X 05
by +03 x 015 X 8+ X 0.18 X 0.15 X 4+0.065 X 0.6 X 4 | m2 4.85
= 4854
#LCo _ _
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+ 028 X 20 = 4180
B RRAERRAESA | t=40mm |BUIRIIRE - EREETEE LY = 2905 | m2 29.1
A t
ELEME- s [7RIFUN v= 2905 x 004 = 116 |m3 1.2
. A L
avH)—hEET [PUTI-300K m3 26
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MRS (AR | R V= 006 X 400 + 0244 = 264
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R P B (A 1) P A B (TR 1)
JEIJ SN A IH % ¥ =] g =} ¥ =
Wrm | EYW| #OE |(Wrm| Y| #OE |(Wom| FY o &
NO. 0 - 0. 46 — — 0.16 — — 0.21 — —
NO. 1 20.00 || 0.46 | 0.46 9.20 0.16 | 0.16 3.20 0.21 | 0.21 4. 20
NO.1 + 1.8 1.80 || 0.46 | 0.46 0.83 0.16 | 0.16 0.29 0.21 | 0.21 0.38
NO.1 + 1.8 - 0.93 | 0.70 0. 00 0.22 | 0.19 0. 00 0.25 | 0.23 0. 00
NO.1 + 2.6 0.80 || 0.93 | 0.93 0.74 0.22 | 0.22 0.18 0.25 | 0.25 0. 20
NO.1 + 2.6 - 0.46 | 0.70 0. 00 0.16 | 0.19 0. 00 0.21 | 0.23 0. 00
NO. 2 17.40 || 0.46 | 0.46 8. 00 0.16 | 0.16 2.78 0.21 | 0.21 3. 65
& 3 40.0 m 18.77 6. 45 8. 43
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WE|FH| & B E|FH| X & |DE[VFYH| & & |BE|FY % &
NO. 0 - 0.62 | — — 0.30 | — — 0.32 | — — 0.72 — —
NO. 1 20.00 || 0.62 | 0.62 12. 40 0.30 | 0.30 6. 00 0.32 | 0.32 6. 40 0.72 | 0.72 14. 40
NO.1 + 1.8 1.80 |[ 0.62 | 0.62 1.12 0.30 | 0.30 0. 54 0.32 | 0.32 0.58 0.72 | 0.72 1.30
NO.1 + 1.8 - 0.65 | 0.64 0. 00 0.30 | 0.30 0. 00 0.35 | 0.34 0. 00 1.03 | o0.88 0. 00
NO.1 + 2.6 0.80 || 0.65 [ 0.65 0. 52 0.30 | 0.30 0. 24 0.35 | 0.35 0.28 1.03 | 1.03 0. 82
NO.1 + 2.6 - 0.62 | 0.64 0.00 0.30 | 0.30 0. 00 0.32 | 0.34 0.00 0.72 | 0.88 0. 00
NO. 2 17.40 || 0.62 | 0.62 10.79 0.30 | 0.30 5.22 0.32 | 0.32 5. 57 0.72 | 0.72 12. 53
& F 40.0 m 24.83 12.00 nf 12.83  m 29.05 i
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